2.4

2.2

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

2
o
I~
™
(o0
N
<
©
8

€ 1
>
o
)
2
IS
o

0.5

II|III|III|III|III|III|III|III|III|III|III|III+H

T TTT]TTTT]TTTT
”

960 GeV ppbar

I T I T | T I
Yy (ttbar) (Mtt > 450 dy < 0)

—4A— Pythia 6.428 370
----- A+ Pythia 6.428 373
--0-- Pythia 6.428 374

Pythia 6.428 375
---&-- Pythia 6.428 381
--¥-- Pythia 6.428 382

|

"‘A-"A"-A-"A“'A"'A“'A"'A"'t?x'"A"‘A"A"'A“'A--A'“A'"A"A"'A--A--.A.--A---&,’

’

A

O
|

gn
; A
-
+

Top (pgrton Ie\{el)

f

B

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


